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< 1,506,145
s 9,616,891
A XA 3 14,364,197 9,602,510 4,761,687
= 4,088,223
s 1,920,413
= 1,498,645
s 6,856,916
TEAS 5,858,017 3,261,035 2,596,982
= 2,506,810
< 940,952
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02 =224l 33,885 10,070 23,815
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201 £B-2dH| 3,000 3,000 0
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09 HALAHIEA S 2,500 2,500 0
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402 2I2H X201 M 44,064 38,400 5,664
= 22,032
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s 15,422
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SA A
M MEXRS
Eel: SURHET CER-ED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
e 620,000
s 620,000
201 24l 13,800 0 13,800
= 6,900
= 6,900
01 AtR2t2ltl 10,200 0 10,200
O=ZEHIXg 2 850,000& »12& 10,200
= 5,100
ia 5,100
02 =24l 3,600 0 3,600
O=Z3HIxg 74l 300,000& =122 3,600
= 1,800
A 1,800
401 Al HIZ 201 I 1,226,200 0 1,226,200
= 613,100
T 613,100
01 A& HI 1,224,000 0 1,224,000
Os=sZdx4ae 1,224,000,000& 14 1,224,000
= 612,000
= 612,000
03 Al 2 THHI 2,200 0 2,200
O=Zxz&dzel ANIZ=2Ubl 2,200
= 1,100
ia 1,100
MBNUASRO 2NN (Z2LHME X AL 20,296 18,452 1,844
= 10,148
< 3,044
s 7,104
101 1Al 20,296 18,452 1,844
= 10,148
=) 3,044
= 7,104
04 JI1ZtHZ22 s+ 20,296 18,452 1,844
O=ZHEXNEZA U2 20,296
—Jl=s 66,8003 1 205 13,694
= 6,846
< 2,053
= 4,795
—F5= 66,800 1 452 3,006
= 1,503
< 451
[ia 1,052
— =g 66,8003 x1H »102 668
= 334
=) 100
= 234
— 522 66,800 x1H 112 +1.5 1,103
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R
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> ou pu
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SN FH-SA(EN) - MBAY - BES

=

i
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HH A

552
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275
637

HH W

20,296
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3,044
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HH W

20,296
10,148
3,044
7,104

18,452

1,844
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O=def2el
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= A
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66,8003 x1H 2052

Mo

66,8003 »1H 452

HH A

66,8003 x1H 102

MW

= 66,800 x1E 112 *1.5

HH W

U AT

20,296
20,296

13,694
6,846
2,053
4,795
3,006
1,503

451
1,052
668
334
100
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1,103
552
165
386
1,825
913
275
637

18,452

1,844
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2 Xtel =

Of
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(1%

M

16,000

4,800
11,200

16,000

101 @124 H]

M H

16,000

4,800
11,200

16,000

04 J12tHI22 Xt
O=Mg el

—Jl2=

=SE-g A
e

66,800& x1H 1902

M H

16,000
16,000
12,692

3,809
8,883
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SN MY
M MEXRS
S SHSsEN CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—F549 66,8002 » 12 262 1,737
< 521
[ia 1,216
— QX 66,8003 x1H 6 401
< 120
s 281
—B8= 1,170
< 350
[ia 820
MEITE2 A5 4,058,102 5,180,192 A 1,122,090
= 25,000
s 1,300,000
< 7,500
[ 2,725,602
s2g 29 4,058,102 5,180,192 A 1,122,090
= 25,000
s 1,300,000
= 7,500
e 2,725,602
AENAFTLEH 29 585,508 531,453 54,055
101 @124 dl 249,844 218,001 31,843
04 DIt Z22XREES 249,844 218,001 31,843
OAENAZFTAE A2 2R 29,126
—Jlas 100,200& »1H 183 18,337
- =54 66,800 * 1 x522 3,474
— QX 66,8003 x1H » 12 802
— 2R
8,350 *50%*8Al 2H+1H x183 6,113
— ZE S| 200,000 1 »23] 400
O%EFLE =) BEX 136,272
= 66,800 x40H «25 66,800
—F5d 66,8003 x40 «8L 21,376
—522fE 66,800 *40H 122! «150% 48,096
OWSEE=D =22 66,8003 x3H x15& 3,006
O==AlE 3a0E 66,8003 x8H 100 53,440
o8z 28,000
201 YEtS | 269,864 246,352 23,512
01 At 2teltl 143,219 119,408 23,811
Os2d 2d2e 89,768
—d=J 228X Sl 8,000 x6H x302! 1,440
-3 MA 1,000& =1,5000H 1,500
— SEH2UALAE SR 22|
800,000& 100 & +12& 9,600
— 80 & HHE MH 50,000& 204 1,000




SA A
Ha: 4YXR LS
©el: B2 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— NS ARHS 350,000& *43| 1,400
— A EFR=HI 10,000& x3& 122 360
— 830U = 50,000& x12& 600
—AEFLH IR URZ(71ha)
5,000,000& x13] 5,000
— 2= AHHA 02 1,000
—dXZMAEIA=2F 400,000,000 *3.3% 13,200
—JtEOEs=8 100,000, 000& *4.0% 4,000
—JdANH A SEHIE 330,000& 14 330
— SHO0IX =U&ANMHA O8RS
100,000& = 12& 1,200
—da) dFESEXNE X
40,0003 »2CH 40 3,200
—SAMJ = 99,000& x12& 1,188
— X2l Ald &2/l 100,000& 200& 20,000
—SH=2 =Z A 500,000 »23| 1,000
— HE HEH 2,000,000& =14 2,000
— PPOHCH 2,200& x1,0000H 2,200
— ZEHMES=(50L) 900& +3,0000H 2,700
—SEHSSE(10L) 200& *3,0000H 600
—SASMYIISE(5L) 100& 3, 0000H 300
—A2BHYAF 50,000& x16Z& 800
—NEES 50,000& x50 2,500
— &Y Fa, JSES
100,000& »10& *33l 3,000
— S8 SFA 50,000 »40% A 2,000
-0l 100, 000& *30MI E 3,000
—FTUYES 100,000& 243 2,400
—MYIIE(2el+=HE) 15,0002 *50 4 750
—YdFAMEHE EX 7Y 1,000, 000& 14 1,000
—YEMH =2 TN7Y
20,0003 »25& 500
O%ENAFT LY SAH| 42,960
—gd(=3) 60,000 300 18,000
—52(g3A) 60,000& 234 14,040
—5d(=3) 60,000 182 10,920
Os2X sSEg2elAAE 2EHM € cl0lE
10,491,000& 14 10,491
02 =24l 126,645 126,944 A 299
Osdg 2d22 126,645
— A2 X EH ==l 6,907
a5 1,338& x3,0004 4,014
S 8763 x2,0004 1,752
egs 1,542& +5004 771
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SA: A
HE: MEXNRAS ASF
ool 22y 29
MY .S (3H) - HRAY - BES il
ulpage=gel] 13,000& %204 260
cc 5,500& *204 110
- 2 29 =2l 3,000
Z=2| Hl 200,000& *3& 53] 3,000
— A8 X2l 4,500
AbOE S Fat) ol , A2 g
500, 000& =83l 4,000
=9, 2 500,000& *x13] 500
—=25F=AHE 15,000& 3004 4,500
— &O|otd 2tel &ty 400,000 x12& 4,800
—&IIAESE 85,300
Ao (zmA 28, HOAAMAE S)
6,916,600& 128 83,000
HONE =& 2,000,000 x1& 2,000
Q1 2ot 25,000& =128 300
— Y22 20,000 *133| & x12& 3,120
—-TVe a3 15,0002 44 & x12& 7,920
— BN RS 100,000& * 13| & x12& 1,200
—XNEHIZBA=Z 25,000& *13] 25
— SISl (=9 E)
99,000& x12& 1,188
— U3 EsENB(IE S2D|) 20,3502 «12& 245
— =433 A 1,500,000& *13] 1,500
—QXelAE A 1,000,000& #2204 A 2,000
—JtAERY 80,000& 14 80
—JtAEA 36,000& x103] 360
202 (4] 6,700 6,700
01 2L Y] 6,700 6,700
OUAEXAHAF A 2te| 6,700
206 M = Hl 1,200 1,000
01 X2t 1,200 1,000
Odals dMIL(A4ESH AKX S)
24,000 x50 1,200
401 Al EHI L 20 HI 53,000 10,000
01 A& HI 53,000 10,000
OFYS A& EYI 53,000
— =8 2 Ho 24 2,000,000 %4 2~ 8,000
— At e 23 X Y E4
45,000,000& * 1 2~ 45,000
405 XHAHE SH 4,900 29,400
01 At = S F SHI 4,900 29,400
OXds%E = 4,900
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SA A
Ha: 4YXR LS
©el: B2 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—HED 72 800,000 »2CH 1,600
- TV 400,000& »2H 800
— Ol=2I 500,000 »2CH 1,000
—dIIgeE 300, 0002 *54 1,500
ANRHMAAS A (AENAFTSE LX) 200,000 200,000 0
s 100,000
s 100,000
401 AIEHIZ 28I 200,000 200,000 0
s 100,000
i 100,000
01 A& Hl 200,000 200,000 0
OAEXNHSAE Z2AtH 199,000,000 141 199,000
as 99,500
e 99,500
OAEXNHSAE S2A AE2UHH 1,000
s 500
s 500
LoSHAZFTAEY 2 446,948 451,080 A4,132
101 @124l 250,846 256,993 A6, 147
04 JI12ZtHZ22 a2+ 250,846 256,993 A6, 147
Os2d Or2t22 Xt 29,126
= 100,200 1 183 18,337
— T4 66,8003 1«52 3,474
—Qx=g 66,800 x 1 12 802
— 2Ry
8,350 x50%*8Al 2H+ 12 x183 6,113
— HES0td| 200,000& x1H +23] 400
O8] BEX 136,272
—Jl=s 66,8003 x40 x25 66,800
-5 66,8003 x40 «8 21,376
— 52 66,800 *40H x 122 «150% 48,096
OUHELE=D| =22 Xt 66,8003 x3H 20 4,008
O=gAlE Faold 66,8002 x8H 100 53,440
OB&8z= 28,000
201 £B-2dH| 187,102 183,337 3,765
01 At 22l 81,688 78,958 2,730
Os¢g 2d22 67,768
—dxJ 284 S 8,000& x6H +30 1,440
- ME 1,000& =1,5000H 1,500
—SE2UAIAE FX 22|
800,000& *1JH A +12& 9,600
— 89 2 OHHE MH 50,0003 20K 1,000
— s AMRHS 350,000& *43| 1,400
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S AR
B MUNRAY ASH
?: 228 23
SA - ZE-B(EA) - NRAY - B S il &t o il
— A EFR=H 10,0002 x3& +12& 360
— &) 2= 50,000& +12& 600
— A=A AHHA0ES 1,000
—dXZHABlA==3Z 400,000,000& *3.3% 13,200
—JtE0E8sE 4,000
—dMANH A SEHE 330,000& 14 330
— SHO0IX 2o MHA 082
100,000& =122 1,200
—H47 gL AN
40,0003 #2CH 40 3,200
—SAD = 99,000& x12& 1,188
—HES =2 Z A 500,000& »23] 1,000
— HE HEH 2,000,000 » 14l 2,000
— PPOCH 2,200& x1,5000H 3,300
— S HMSE(50L) 900! *5, 00001 4,500
—EZMsSE(100L) 200& x5, 0000H 1,000
—SASMYIISE(5L) 1002 x5, 0000H 500
—ABHYAF 50,000& x16& 800
—NEES 50,000& 508 2,500
—3EA FA, HIES 300,000& 103 3,000
— A8 T 50,000& »40%+ A 2,000
—0l= 100,000 *30MI E 3,000
—FYEF 7L 100,000& 245 2,400
—MEdIS(2el=HE) 15,000& 504 750
—YdFAMEHE EX 7Y 1,000, 0002 14| 1,000
OYslss2d Al 13,920
—EYU(=H) 60,000& x50 3,000
—5(g3) 60,0002 118 7,080
—5d(=3) 60,0003 64 3,840
02 =224l 105,414
Oy =gz 103,449
— A& o FH R 5,824
a7 1,338& x3,5004 4,683
es 1,542& *5004 771
AR 13,000& 202 260
g 5,500& %204 110
— ZH ¥ =2 B8R 3,000
=2/ tl 200,000& x3&+53| 3,000
— A& 2 X 2eltl 4,000
SO (F2 =50F AOILA)
200,000& 204! 4,000
= = 15,000& %3504 5,250
— &J|et& 2t T &g 481,250 123 5,775
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ey )
BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
—&IAEZ 76,000
- UBH (A2 S BHOAIE S)
4,800,000 x12& 57,600
X2l A& 200,000& 1228 2,400
=4 4,000,000 *1JH 2~ +43 16,000
-vea3 15,000& 20 128 3,600
OXEdAr2 25,000& *13] 25
O=sg3d3 A 1,500, 000& 12| 1,500
Onars+7g 80,000 =124 80
OJtasH 36,000& =102l 360
206 T2 HI 1,000 750 250
01 MHZ 4l 1,000 750 250
Oddis dMFAL(EEM S) 20,0002 509 1,000
401 N EHI L2 O 8,000 10,000 £2,000
01 A& HI 8,000 10,000 A 2,000
Oz =HFH| 8,000,000 » 14 8,000
ARHMAHE L (LtsSHAFAE Z&8NH) 800,000 400,000 400,000
ras 400,000
e 400,000
401 Al Bl 28I 800,000 400,000 400,000
s 400,000
s 400,000
01 A& HI 798,000 400,000 398,000
OYstsidsdsy 22AY
798,000,000 » 14! 798,000
s 399,000
e 399,000
03 A& =2 THHI 2,000 0 2,000
Odstsitdsda E2A A2 2,000
s 1,000
fia 1,000
LISHEFIHE 23 375,646 439,294 A 63,648
101 @124l 158,153 153,831 4,322
04 JI12ZtHZ22HEE = 158,153 153,831 4,322
O=SMEsHEE, d2UFHL, HEFSS
22 56,647
== 66,800 x22 2492 33,267
- =54 66,800 x2H x522 6,948
—52d2RE 66,8003 *2H «50 2! *150% 10,020
— =g 66,8003 x2H x12 1,604
— BE S0l 200,000& x2H +23| 800
— &z 66,8003 x2H 30 4,008
OYstsIESIE I8 51,102
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A
M MEXRS 255
?: 228 23
B O (S0) - NRAY - HES 0l &+ o4 il
-Jlas 66,8003 x 152 x252 25,050
—FF5Y 66,8003 x15H 8 8,016
—522fE 66,800 * 159 122 «150% 18,036
ONEFLs 5 20 66,8002 «10H 502 33,400
OWEEHE=D =22 X 66,800 *3Y <10 2,004
(@)= = 15,000
L2 H Y| 185,093
AtE 2t el i 48,300
OFItE 282 48,300
- SN=MEE S200IF7) 7+
100,000 55 x53| 2,500
—cESAHH 1,000& *2,0000H 2,000
—SHEZSHMEE LYENLEH MRES 22
250,000& *83| 2,000
—SHENEHY HEAEE 7Y
50,0003 *x20& 128 12,000
—JtEdlEs8 30,000, 000& *4% 1,200
—=XZ2H FHAH| 1,000,000& *20H 2~ 2,000
— X2l A4 &2/l 100,000& x210& 21,000
—IIEFYS RYEE 2L 200,000& 204! 4,000
—SNEEEATY 20,000& =302 600
—RO0=01217 2L 100,000 53 *2H 1,000
02 23224l 136,793
OFItE 2322 136,793
— ANELEHRFHI 3,528
S5 876& x2,5004 2,190
2= 1,338& x1,0004 1,338
e = = 15,000& 2004 3,000
—dIIAEE 106,700
Hs2y ¢ 2393 2,916,660& x12& 35,000
IFES2AE 2,916,660& =122 35,000
QI8 4,250,000 x 10 x4 17,000
- Xl AlE 200,000& x12& 2,400
2l At A 500,000& »12& 6,000
2 2HE 25,000& x12& 300
-HEZ2E orgd 2 916,600& »12& 11,000
— &MOlotM 2t O &y 6,000
M2 2 #49% 300,000& 123 3,600
IESLS 200,000& 12 2,400
— YA R3 100,000& »23| & 128 2,400
— XA FA 1,000,000 *4H 2 4,000
— 223U EAL 2,400
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SA A
Ha: 4YXR LS
©el: B2 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-ESHEMEE 1,200, 0002 *14] 1,200
IEsLs 1,200, 000& * 14 1,200
—tadsSag0test2I]) 20,3508 128 245
-vea3 15,0003 284 128 5,040
— YRS 20,0003 +73 & +12& 1,680
— s3JIs 22l 150,000& =122 1,800
401 AIEHI L 201 28,000 90,000 262,000
01 A& Bl 28,000 90,000 A 62,000
OFIHE ANEEHI 28,000
— =8 Y BHOYAIAE 2 2,000,000 404 A& 8,000
—S3SANES WEESEA
20,000,000 104 & 20,000
405 TtHakF S| 4,400 5,900 A 1,500
01 AL EFH S 4,400 5,900 A 1,500
OYstsIHEFIIE 22 =237¢ 4,400
— Ol =Dl 500,000 = 1CH 500
- TV 400,000& »2H 800
—dolgeE 300, 0002 *5CH 1,500
—dED 800,000& »2[H 1,600
g & =4 1,600,000 1,000,000 600,000
s 800,000
[ia 800,000
401 AIEHI L 20 1,600,000 1,000,000 600,000
s 800,000
s 800,000
01 A& HI 1,597,000 1,000,000 597,000
Oxs2 = =4 1,597,000, 000& 14 1,597,000
as 798,500
i 798,500
03 Al S THHI 3,000 0 3,000
OXseds 24 AI&E&2Udl 3,000
s 1,500
[ia 1,500
=ld MEEXNETEY /8 22X 50,000 44,000 6,000
= 25,000
< 7,500
[ia 17,500
307 21201 A 50,000 44,000 6,000
= 25,000
< 7,500
s 17,500
05 RIZt2IEt = 50,000 44,000 6,000
O=dld A< 25,000,000 »2H 50,000
= 25,000
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